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Ideals for irreducible componentfbf Xpar

I = (W —u®® 4 = 2u+ 1)

* 1 irreducible components of dim¢ = 0, with total 59 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(u*®—u®+... —2u+1)

(i) Arc colorings

e ()

0
a? = u
1
a4 == u
u
ag == u
u? 41
a2 = u
u3 + 2u
ag = ud 4 u
u8—|—5u +Tut +2u +1
as = ub + 4ub + 4u?
ut+3u+1
a1 = \ —yb — 2yt + o2
—ul® — 8ult — 23u° — 28u” — 14u® — 4ud +u
= u15 —|— Tuld + 16u!t + 11u° — 20" +u
u22 +13u20 + -+ 2u? + 1
—12u?? + -+ — 8ub — 4u?
u45 —|— 26u3 + - +4ud +u
—25u® 4+ —dub 4 u
—ut® =230 - 4 207+ 1
an =\ — 40—22u38—|—---—8u6—4u4
(ii) Obstruction class = —1
(iii) Cusp Shapes = —4u®® + 4u®7 + -+ — 12u + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
‘@ u?? —15u”® + -+ 16u— 1
C2,C3,C7 U59—U58+"'—2u+1
cs
Ca u —u”® + - — 60u + 29
cs, C10, C11 W - w1
Co u® +u®® + - — 32u 4 185
Cg, C12 w?? — 9y - —312u + 17




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1 y59_y58+_66y_1
C2,C3,C7 y59+67y58+—2y—1
cs
C4 y*? — 9y°® + - + 8762y — 841
Cs, €10, C11 y59+55y58+---—2y—1
Co y*? + 1998 + .. — 707526y — 34225
Co, C12 yP) + 47y .- — 338y — 289




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

= 0.087204 + 0.8514781

5.17243 — 4.736621

—4.00000 + 2.760711

0.087204 — 0.8514781

5.17243 4 4.736621

—4.00000 — 2.760711

0.522294 4+ 0.6712171

7.75645 4 10.787401

—0.55320 — 8.844571

0.522294 — 0.6712171

7.75645 — 10.787401

—0.55320 + 8.844571

—0.509216 + 0.6648671

1.80756 — 7.412381

—4.27230 4 9.260041

—0.509216 — 0.6648671

1.80756 + 7.412381

—4.27230 — 9.260041

—0.522330 + 0.6278301

8.64971 — 0.660191

1.00927 + 3.062291

= —0.522330 — 0.6278301

8.64971 4 0.660191

1.00927 — 3.062291

0.502304 + 0.6425741

2.30495 + 3.346831

—2.71079 — 3.113641

= 0.502304 — 0.6425741

2.30495 — 3.346831

—2.71079 + 3.113641

= 0.423758 + 0.6957211

1.01542 + 5.692981

—5.32566 — 8.428701

= 0.423758 — 0.6957211

1.01542 — 5.692981

—5.32566 + 8.428701

= —0.373673 + 0.6910831

—3.05801 — 2.714461

—12.01209 + 6.097411

= —0.373673 — 0.6910831

—3.05801 + 2.714461

—12.01209 — 6.097411

= 0.301840 + 0.7201221

0.268239 — 0.0627231

—7.61119 — 1.275001

0.268239 4 0.0627231

—7.61119 + 1.275001

= —0.085060 + 0.774106.1

—0.61920 + 1.719411

—8.31003 — 3.375291

= —0.085060 — 0.7741061

—0.61920 — 1.719411

—8.31003 + 3.375291

—0.573822 4 0.2923411

9.62917 — 3.101051

3.62624 + 3.325551

—0.573822 — 0.2923411

9.62917 + 3.101051

3.62624 — 3.325551

= —0.445524 + 0.4595111

5.05128 — 1.593781

2.60026 + 4.575881

—0.445524 — 0.4595111

5.05128 + 1.593781

2.60026 — 4.575881

= 0.592961 + 0.2362701

9.02899 — 6.978711

2.70616 + 3.272311

= 0.592961 — 0.2362701

9.02899 4 6.978711

2.70616 — 3.272311

—0.570616 + 0.2376171

3.05307 + 3.70586.1

—0.77253 — 3.597821

—0.570616 — 0.2376171

3.05307 — 3.705861

—0.77253 4 3.597821

0.552309 + 0.2683891

3.39541 + 0.291091

0.41142 — 3.337171

0.552309 — 0.2683891

3.39541 — 0.291091

0.41142 + 3.337171

—0.029521 + 1.4095301

4.52945 — 5.124401

0

U
U
U
U
U
U
U
U
U
U
U
U
U
U
U
u=0.301840 — 0.720122]
U
U
U
U
U
U
U
U
U
U
U
U
U
U

—0.029521 — 1.4095301

4.52945 + 5.124401

0




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u = 0.263506 + 0.5183671

—0.175692 4+ 1.0266901

—3.26382 — 6.432481

u = 0.263506 — 0.5183671

—0.175692 — 1.0266901

—3.26382 + 6.432481

u = 0.01406 + 1.427921

—1.64302 4 2.043341

0

uw=0.01406 — 1.427921

—1.64302 — 2.043341

0

u = 0.490035 + 0.1022151

2.69779 — 2.539711

—0.68814 + 3.210891

u = 0.490035 — 0.1022151

2.69779 4 2.539711

—0.68814 — 3.210891

u = —0.08759 + 1.533511 —1.60105 — 3.316871 0
u = —0.08759 — 1.533511 —1.60105 + 3.316871 0
u = —0.423131 —1.20479 —7.49580

u= 0.07142 + 1.576081 —7.46190 + 2.189671 0
u= 0.07142 — 1.576081 —7.46190 — 2.189671 0
u = —0.15017 4+ 1.576671 1.23526 — 3.116871 0
u = —0.15017 — 1.576671 1.23526 + 3.116871 0
uw=0.14422 + 1.584621 —5.21473 4 5.716731 0
uw=0.14422 — 1.584621 —5.21473 — 5.716731 0
u = —0.04686 + 1.596961 —8.59473 + 1.107221 0
u = —0.04686 — 1.596961 —8.59473 — 1.107221 0
u = —0.14844 + 1.591871 —5.81777 — 9.842441 0
u = —0.14844 — 1.591871 —5.81777 4 9.842441 0
u = 0.15352 + 1.593591 0.10974 + 13.291001 0
uw= 0.15352 — 1.593591 0.10974 — 13.291001 0
u = —0.10679 + 1.600501 —10.87520 — 4.502731 0
u = —0.10679 — 1.600501 —10.87520 4 4.502731 0
u = 0.08882 + 1.603021 —7.65490 + 1.412341 0
u = 0.08882 — 1.603021 —7.65490 — 1.412341 0
u = 0.12015 + 1.601901 —6.80500 + 7.709981 0
u= 0.12015 — 1.601901 —6.80500 — 7.709981 0
u= 0.03277 + 1.608581 —3.11395 — 4.264251 0
u= 0.03277 — 1.608581 —3.11395 + 4.264251 0




II. u-Polynomials

Crossings u-Polynomials at each crossing
! u’? — 150" + -+ 16u — 1
C2,C3,Cr W — P b —2ut1
Cs8
€4 u?? — P 4 — 60u + 29
C5,C10, C11 W =P+ 1
C6 u? +u”® 4 — 32u+ 185
¢y, C12 u? —9uB® .. —312u 4 17




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1 y59_y58+_66y_1
C2,C3,C7 v 6Ty 4 —2y—1
c8
C4 y?? — 9y°® + - 4+ 8762y — 841
C5, €10, C11 Y 55y =2y — 1
Co yP? + 19958 + ... — 707526y — 34225
Co, C12 yP? +47y%8 + ... — 338y — 289




